HANKEL DETERMINANT FOR CERTAIN SUBCLASS OF MULTIVALENT FUNCTIONS DEFINED BY SALAGEAN DIFFERENTIAL OPERATOR

BOLADE. O. MOSES¹ ADEWALE. A. JAMES² AND MATTHEW. O. OLUWAYEMI³ ^{1&2}Mathematics Department,

American University of Nigeria, P.M.B 2250, Yola, Adamawa State, Nigeria ³Department of Mathematics, Landmark University, P. M. B. 1001, Omu Aran, Nigeria. **Email:** <u>moses.omuya@aun.edu.ng</u>, <u>adewale.james@aun.edu.ng</u>, <u>oluwayemimatthew@gmail.com</u>

Phone No:+234-805-047-4517

Abstract

The paper obtains the sharp bounds for the second Hankel determinant of Certain Subclasses of Multivalent functions defined by Salagean differential operator.

keywords: Coefficient bound, Hankel determinant, Multivalent functions Salagean differential operator, Toeplitz determinant. 2010 Mathematics Subject Classification: Primary 30C45

Introduction and Preliminaries

Let A_p denote the class of functions of the form

$$f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n \qquad p \in N$$
(1.1)

which are analytic and p-valent in the open unit disk $U = \{z : |z| < 1\}$.

Opoola, in 1984 defined the class $T_n^{\beta}(\alpha)$ to be the subclass of the functions defined in (1.1) when p = 1, satisfying the condition

$$\operatorname{Re}\left\{\frac{D^{n}f(z)^{\beta}}{z^{\beta}}\right\} > \alpha \ z \in U, \ n \in \mathbb{N}, \ 0 \le \alpha < 1, \beta \ge 0$$
(1.2)

where D^n is the Salagean differential operator defined recursively as follows:

$$D^{0}f(z) = f(z)$$

$$D^{1}f(z) = Df(z) = zf'(z)$$

$$D^{2}f(z) = D(D^{1}f(z)) = z(D^{1}f(z))'$$
:
$$D^{n}f(z) = D(D^{n-1}f(z)) = z(D^{n-1}f(z))'$$
(1.3)

The class has been repeatedly investigated by several authors (see Ntatin (2010), Al-Shaqsi et al (2010) and Fadipe-Joseph et al (2007)).

From (1.1), and using binomial expansion we have

$$f(z)^{\beta} = z^{p\beta} + \beta a_{p+1} z^{p\beta+1} + \left(\beta a_{p+2} + \frac{\beta(\beta-1)}{2!} a_{p+1}^2\right) z^{p\beta+2} + \left(\beta a_{p+3} + \frac{\beta(\beta-1)}{2!} 2a_{p+1} a_{p+2} + \frac{\beta(\beta-1)(\beta-2)}{3!} a_{p+1}^3\right) z^{p\beta+3} + \cdots\right)$$
(1.4)

which implies

$$f(z)^{\beta} = z^{p\beta} + \sum_{k=1}^{\infty} \beta a_{p+k} z^{\beta p+k} \qquad \beta > 0$$
(1.5)

And by the operator defined in (1.3), (1.5) becomes

$$D^{n}f(z)^{\beta} = z^{p\beta} + \sum_{k=1}^{\infty} \beta \left(\frac{p\beta+k}{p\beta}\right)^{n} a_{p+k} z^{\beta p+k}$$
(1.6)

From (1.2) and (1.6) we defined the class of functions $f(z) \in A_p$ satisfying the condition

$$Re\left\{\frac{D^n f(z)^{\beta}}{z^{p\beta}}\right\} > \alpha, z \in U, p, n \in N, 0 \le \alpha < p, \beta \ge 0$$
(1.7)

The class is denoted by $T_n^{\beta}(\alpha, p)$.

Similarly a function $f(z) \in A_p$ is in the class $T_n^{\beta}(\lambda, p)$ if it satisfies the condition

$$\operatorname{Re}\left(\frac{D^{n}f(z)^{\beta}}{\left(1-\lambda\right)f(z)^{\beta}+\lambda D^{n}f(z)^{\beta}}\right) > \lambda \ z \in U, \ p,n \in \mathbb{N}, \ 0 \le \lambda < p, \ \beta \ge 0$$
(1.8)

The Hankel determinants $H_q(n)$ of f(z) for $q \ge 1$ and $n \ge 1$ stated in Vamshee and Ramreddy (2016), Yavuz 2015 and Noonan and Thomas (1976) is defined as

$$H_{q}(n) = \begin{vmatrix} a_{n} & a_{n+1} & \dots & a_{n+q-1} \\ a_{n+1} & a_{n+2} & \cdots & a_{n+q} \\ \vdots & \vdots & \vdots & \vdots \\ a_{n+q-1} & a_{n+q} & \cdots & a_{n+2q-2} \end{vmatrix}, (a_{1} = 1)$$

The determinant has been considered by different authors for several classes of functions in geometric function theory (see, Sahoo (2018), Alarifi et al. (2017), Patil and Khairnar (2017), Vamshee and Ramreddy (2016). Yavuz (2015). Sudharsan and Vijaya (2014)).

Specifically for the case of q = 2 and n = 2 known as the second Hankel determinant (functional), given by

$$H_{2}(2) = \begin{vmatrix} a_{2} & a_{3} \\ a_{3} & a_{4} \end{vmatrix} = a_{2}a_{4} - a_{3}^{2}$$

were obtained for various subclasses of univalent and multivalent analytic functions. The bounds give information about the geometric properties of this class of functions, in particular, the growth and distortion properties of these functions are determined by the bounds of its second coefficient. Vamshee and Ramreddy (2016) considered the Hankel determinant for the case of q = 2 and n = p + 1 denoted by $H_2(p+1)$, given by

$$H_{2}(p+1) = \begin{vmatrix} a_{p+1} & a_{p+2} \\ a_{p+2} & a_{p+3} \end{vmatrix} = a_{p+1}a_{p+3} - a_{p+2}^{2}$$

for the class of Multivalent functions of bounded turning of order alpha. And obtain the sharp upper bound for the functional $|a_{p+1}a_{p+3} - a_{p+2}^2|$ i.e.

$$\left|a_{p+1}a_{p+3}-a_{p+2}^{2}\right| \leq \left[\frac{2p(1-\alpha)}{p+2}\right]^{2}$$

for the class

Motivated by this result and several others, we consider the second Hankel determinant for the class of functions defined in (1.7) and (1.8), and seek a sharp upper bound for the functional $|a_{p+1}a_{p+3}-a_{p+2}^2|$ for functions belonging to this classes.

Preliminary results

The following Lemmas are required to prove our results. Let P be the class of all functions p(z) analytic in the unit disk U such that Re p(z) > 0 and

$$p(z) = 1 + c_1 z + c_2 z^2 + c_3 z^3 + \dots = 1 + \sum_{k=1}^{\infty} c_k z^k$$
(2.1)

Lemma 2.1: (Pommerenke, 1966).

Let $p \in P$ then $|c_k| \le 2, k = 1, 2, \cdots$ and the inequality is sharp for

$$p(z) = \frac{1+z}{1-z} = 1 + \sum_{k=1}^{\infty} 2z^k$$
(2.2)

Lemma 2.2: (Hayami & Owa, 2009)

If $p(z) = p + \sum_{k=1}^{\infty} c_k z^k$ satisfies the following inequality Re $p(z) > \alpha(z \in U)$

for some $\alpha(0 \le \alpha < p)$, then

$$|c_k| \le 2(p-\alpha) \ (k=1,2,3,\cdots).$$
 (2.3)

Lemma 2.3: (Libera & Zlotkiewicz, 1983)

The power series for p(z) given in (2.1) converges in U to a function in P if and only if the Toeplitz determinant

$$D_{n} = \begin{vmatrix} 2 & c_{1} & c_{2} & \dots & c_{n} \\ c_{-1} & 2 & c_{1} & \cdots & c_{n-1} \\ c_{-2} & c_{-1} & 2 & \dots & c_{n-2} \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ c_{n} & c_{-n+1} & c_{-n+2} & \dots & 2 \end{vmatrix}, n = 1, 2, 3, \cdots$$
(2.5)

and $c_{-k} = \overline{c}_k$ are all non-negative. They are strictly for $p(z) = \sum_{k=1}^m p_k p_0(e^{it_k} z)$, with $p(z) = \sum_{k=1}^m p_k = 1$, t_k real and $t_k \neq t_j$, for $k \neq j$, where $p_0(z) = \frac{1+z}{1-z}$ in this case $D_n > 0$ for n < (m-1) and $D_n = 0$ for $n \le m$. **Lemma 2.4:** (Hayami & Owa, 2009)

If a function
$$p(z) = p + \sum_{k=1}^{\infty} c_k z^k$$
 satisfies Re $p(z) > \alpha(z \in U)$ for some $\alpha(0 \le \alpha < p)$, then

$$2(p-\alpha)c_2 = c_1^2 + \{4(p-\alpha)^2 - c_1^2\}x$$

$$4(p-\alpha)^2 c_3 = c_1^3 + 2\{4(p-\alpha)^2 - c_1^2\}c_1x - \{4(p-\alpha)^2 - c_1^2\}c_1x^2$$

$$+2(p-\alpha)\{4(p-\alpha)^2 - c_1^2\}(1-|x|^2)y$$
(2.6)

for some complex number *x* and *y* ($|x| \le 1, |y| \le 1$)

Main Results

Theorem 3.1:

If $f(z) \in T_n^{\beta}(\alpha, p)$, then

$$\left|a_{p+1}a_{p+3} - a_{p+2}^{2}\right| \le \frac{4(p-\alpha)\beta^{n}}{(p\beta)^{n}(p\beta+2)^{2n}}$$
(3.1)

The result obtained is sharp.

Proof:

Let $f(z) \in T_n^{\beta}(\alpha, p)$. Then there exist a $p(z) \in P$, such that

$$\frac{D^n f(z)^{\beta}}{z^{p\beta}} = p(z).$$
(3.2)

Expanding both side of (3.2) we have

$$1 + \beta \left(\frac{p\beta + 1}{p\beta}\right)^{n} a_{p+1} z + \beta \left(\frac{p\beta + 2}{p\beta}\right)^{n} a_{p+2} z^{2} + \beta \left(\frac{p\beta + 3}{p\beta}\right)^{n} a_{p+3} z^{3} + \cdots$$

= 1 + c₁ z + c₂ z² + c₃ z³ + \dots, (3.4)

equating powers of z, z^2 and z^3 we obtain

$$a_{p+1} = \frac{c_1(p\beta)^n}{\beta(p\beta+1)^n}, \ a_{p+2} = \frac{c_2(p\beta)^n}{\beta(p\beta+2)^n}, \ a_{p+3} = \frac{c_3(p\beta)^n}{\beta(p\beta+3)^n}$$
(3.5)

from (3.3) and (3.4) we have that

$$a_{p+1}a_{p+3} - a_{p+2}^{2} = \left| \frac{c_{1}(p\beta)^{n}}{\beta(p\beta+1)^{n}} \frac{c_{3}(p\beta)^{n}}{\beta(p\beta+3)^{n}} - \left(\frac{c_{2}(p\beta)^{n}}{\beta(p\beta+2)^{n}} \right) \right|$$
$$= \frac{(p\beta)^{2n}}{\beta^{2}} \left| \frac{c_{1}c_{3}}{(p\beta+1)^{n}(p\beta+3)^{n}} - \frac{c_{2}^{2}}{(p\beta+2)^{2n}} \right|$$

substituting for c_2 and c_3 using lemma 2.4, and for some x and y such that $|x| \le 1$, $|y| \le 1$. simplifying we have

$$= \left(\frac{c_1^4 + 2[4(p-\alpha)^2 - c_1^2]c_1x - [4(p-\alpha)^2 - c_1^2]c_1x^2 + 2(p-\alpha)[4(p-\alpha)^2 - c_1^2](1-|x|^2)y}{4(p-\alpha)^2(p\beta+1)^n(p\beta+3)^n} \right) \\ - \left(\frac{c_1^4 + 2[4(p-\alpha)^2 - c_1^2]c_1x + [(4(p-\alpha)^2 - c_1^2)x]^2}{4(p-\alpha)^2(p\beta+2)^{2n}} \right)$$

If $c_1 = c$ and $0 \le c \le 2(p - \alpha)$, applying the triangle inequality we obtain

$$\begin{vmatrix} a_{p+1}a_{p+3} - a_{p+2}^{2} \end{vmatrix} \leq \frac{c^{4}}{4(p-\alpha)^{2}(p\beta+1)^{n}(p\beta+3)^{n}} + \frac{2[(4(p-\alpha)^{2}-c^{2}]c\rho - [(4(p-\alpha)^{2}-c^{2}]c\rho^{2}]}{4(p-\alpha)^{2}(p\beta+1)^{n}(p\beta+3)^{n}} \\
+ \frac{8c(p-\alpha)^{3} - 8c(p-\alpha)^{3}\rho^{2}}{4(p-\alpha)^{2}(p\beta+1)^{n}(p\beta+3)^{n}} - \frac{2c^{4}+2c^{4}\rho^{2}}{4(p-\alpha)^{2}(p\beta+1)^{n}(p\beta+3)^{n}} \\
+ \frac{c^{4}}{4(p-\alpha)^{2}(p\beta+2)^{n}} + \frac{2[(4(p-\alpha)^{2}-c^{2}]c\rho - [(4(p-\alpha)^{2}-c^{2}]c\rho^{2}]}{4(p-\alpha)^{2}(p\beta+2)^{n}} = F'(\rho)
\end{vmatrix}$$
(3.6)

with $\rho = |x| \le 1$. Furthermore,

$$F(\rho) = \frac{2[(4(p-\alpha)^2 - c^2]c\rho - [(4(p-\alpha)^2 - c^2]c\rho^2]}{4(p-\alpha)^2(p\beta+1)^n(p\beta+3)^n} + \frac{8c(p-\alpha)^3 - 8c(p-\alpha)^3 2\rho}{4(p-\alpha)^2(p\beta+1)^n(p\beta+3)^n} - \frac{4\rho c^4}{4(p-\alpha)^2(p\beta+1)^n(p\beta+3)^n} + \frac{2[(4(p-\alpha)^2 - c^2]c - [(4(p-\alpha)^2 - c^2]2c\rho]}{4(p-\alpha)^2(p\beta+2)^n}$$

and by elementary calculus we see that $F'(\rho) > 0$ for $\rho > 0$. Thus implying that F is an increasing function and the upper bound for (3.6) correspond to $\rho = 1$ and c = 0 which gives,

$$\left|a_{p+1}a_{p+3} - a_{p+2}^{2}\right| \le \frac{4(p-\alpha)\beta^{n}}{(p\beta)^{n}(p\beta+2)^{2n}}$$
(3.7)

This complete the proof

Remark 1: For $\alpha = 0$ and $p = \beta = n = 1$ then

$$\left|a_{2}a_{4}-a_{3}^{2}\right| \leq \frac{4}{9}$$

Which coincide with the results of Vamshee and Ramreddy (2016) and Janteg et al. (2007)

Remark 2: For p = 2 and $\alpha = \beta = n = 1$ then

$$\left|a_{2}a_{4}-a_{3}^{2}\right| \leq \frac{1}{8}$$

Which coincide with the results of Yavuz (2015)

Theorem 3.2:

If $f(z) \in T_n^{\beta}(\lambda, p)$, then

$$\left|a_{p+1}a_{p+3} - a_{p+2}^{2}\right| \leq \frac{4(p-\alpha)^{2}}{\beta^{2}(1-\lambda)^{2} \left[\left(\frac{p\beta+2}{p\beta}\right)^{2} - 1\right]^{2}}$$
(3.8)

The result obtained is sharp.

Proof:

Let $f(z) \in T_n^{\beta}(\lambda, p)$. Then there exist a $p(z) \in P$ with p(0) = 1 and $\operatorname{Re} p(z) > 0 \in U$, such that

$$\frac{D^n f(z)^{\beta}}{(1-\lambda)f(z)^{\beta} + \lambda D^n f(z)^{\beta}} = p(z)$$
(3.9)

Expanding both side of (3.9) and equating the powers of z, z^2 and z^3 gives

$$a_{p+1} = \frac{c_1}{d_{\lambda 1}},$$
$$a_{p+2} = \frac{\left[\beta + (1+\lambda)c_1d_1\right]c_1 + c_2d_{\lambda 1}}{d_{\lambda 1}d_{\lambda 2}}$$

and

$$a_{p+3} = \frac{[\beta(1-\lambda) + \lambda\beta d_2][\beta(1+\lambda)d_1c_1]c_1^2 + c_2d_1 + \beta(1-\lambda)c_2c_1 + c_3d_{\lambda 1}}{d_{\lambda 1}d_{\lambda 2}d_{\lambda 3}}$$
(3.11)

Where

$$d_{\lambda 1} = \beta(1-\lambda) \left[\left(\frac{p\beta+1}{p\beta} \right)^{n} - 1 \right]$$

$$d_{\lambda 2} = \beta(1-\lambda) \left[\left(\frac{p\beta+2}{p\beta} \right)^{n} - 1 \right]$$

$$d_{\lambda 3} = \beta(1-\lambda) \left[\left(\frac{p\beta+3}{p\beta} \right)^{n} - 1 \right]$$
(3.11)

with $d_1 = \left(\frac{p\beta+1}{p\beta}\right)^n$ and $d_2 = \left(\frac{p\beta+2}{p\beta}\right)^n$ respectively

$$\begin{vmatrix} a_{p+1}a_{p+3} - a_{p+2}^{2} \end{vmatrix} = \begin{vmatrix} [\beta(1-\lambda) + \lambda\beta d_{2}][\beta(1+\lambda)d_{1}c_{1}]c_{1}^{3} + (d_{1}+\beta(1-\lambda))c_{2}c_{1}^{2} + c_{3}c_{1}d_{\lambda 1}}{d_{\lambda 1}d_{\lambda 2}d_{\lambda 3}} \\ - \left[\frac{[\beta + (1+\lambda)c_{1}d_{1}]c_{1} + c_{2}d_{\lambda 1}}{d_{\lambda 1}d_{\lambda 2}} \right]^{2} \end{vmatrix}$$
(3.12)

Applying triangle inequality, substituting for c_2 and c_3 by lemma 2.4, and letting $c_1 = c$ for some *x* and *y* such that $|x| \le 1$, $|y| \le 1$. simplifying gives

$$\begin{aligned} \left|a_{p+1}a_{p+3} - a_{p+2}^{2}\right| &\leq \frac{\left[\beta(1-\lambda) + \lambda\beta d_{2}\right]\left[\beta(1+\lambda)d_{1}c\right]c^{3}}{d_{\lambda_{1}}^{2}d_{\lambda_{2}}d_{\lambda_{3}}} + \frac{\left[\beta(1-\lambda)cd_{1}\right]^{2}c^{2}}{d_{\lambda_{1}}^{2}d_{\lambda_{2}}^{2}} \\ &+ \frac{(d_{1}+\beta(1-\lambda))(c_{1}^{4}+\{4(p-\alpha)^{2}-c^{2}\}\rho c^{2})}{d_{\lambda_{1}}^{2}d_{\lambda_{2}}d_{\lambda_{3}}2(p-\alpha)} \\ &+ \frac{c^{4}+2\{4(p-\alpha)^{2}-c^{2}\}c^{2}\rho-\{4(p-\alpha)^{2}-c^{2}\}c^{2}\rho^{2}+2c(p-\alpha)\{4(p-\alpha)^{2}-c^{2}(1-\rho^{2})\}}{d_{\lambda_{1}}^{2}d_{\lambda_{2}}d_{\lambda_{3}}4(p+\alpha)^{2}} \\ &+ \frac{2[\beta+(1+\lambda)cd_{1}](c^{3}+\{4(p-\alpha)^{2}-c^{2}\}\rho c)}{d_{\lambda_{1}}d_{\lambda_{2}}^{2}2(p-\alpha)} + \frac{\left[(c^{2}+\{4(p-\alpha^{2})-c^{2}\}\rho)\right]^{2}}{d_{\lambda_{2}}^{2}4(p-\alpha)} \end{aligned}$$
(3.13)

with $\rho = |x| \le 1$. Furthermore,

$$\begin{vmatrix} a_{p+1}a_{p+3} - a_{p+2}^{2} \end{vmatrix} \leq \frac{(d_{1} + \beta(1-\lambda))(c_{1}^{4} + \{4(p-\alpha)^{2} - c^{2}\}c^{2}}{d_{\lambda_{1}}^{2}d_{\lambda_{2}}d_{\lambda_{3}}2(p-\alpha)} \\
+ \frac{c^{4} + 2\{4(p-\alpha)^{2} - c^{2}\}c^{2} - \{4(p-\alpha)^{2} - c^{2}\}c^{2}2\rho + 2c(p-\alpha)\{4(p-\alpha)^{2} - c^{2}(1-2\rho)}{d_{\lambda_{1}}^{2}d_{\lambda_{2}}d_{\lambda_{3}}4(p+\alpha)^{2}} \\
+ \frac{2[\beta + (1+\lambda)cd_{1}](c^{3} + \{4(p-\alpha)^{2} - c^{2}\}c)}{d_{\lambda_{1}}d_{\lambda_{2}}^{2}2(p-\alpha)} + \frac{c^{4} + 2c^{2}\{4(p-\alpha^{2}) - c^{2}\} + [\{4(p-\alpha)^{2} - c^{2}\}]^{2}2\rho}{d_{\lambda_{2}}^{2}4(p-\alpha)}
\end{vmatrix} (3.14)$$

And by elementary calculus $F'(\rho) > 0$ for $\rho > 0$. Thus implying that F is an increasing function and the upper bound for (3.13) correspond to $\rho = 1$ and c = 0 which implies (3.8).

Remark 3:

For $\alpha = \lambda = 0$ and $p = \beta = n = 1$ then $\left|a_2a_4 - a_3^2\right| \le 1$

which coincide with the result of Janteng et al. (2007).

Conclusion

The upper bounds for the functional $|a_{p+3}a_{p+1} - a_{p+2}^2|$ for functions belonging to $T_n^\beta(\alpha, p)$ and $T_n^\beta(\lambda, p)$ are obtained. And this coincide with earlier known results in univalent function theory.

References

- Alarifi, N. M., Ali, R. M., & Ravichandra, V. (2017). On second Hankel determinant for the kth-Root Transform of Analytic Functions. *Filomat*, 31 (2), 227 245.
- Al-Shaqsi, K., Darus, M., & Fadipe-Joseph, A. O. (2010). A new subclass of salagean typeharmonic univalent functions. *Abstract and Applied Analysis,* (14), 1 - 12.

- Fadipe-Joseph, O. A., & Opoola, T. O. (2007). On starlikeness and convexity properties of a subclass of univalent functions. The journal of Mathematical Association of Nig., 34(2B), 374-379.
- Hayami, T., & Owa, S. (2009). Hankel determinant for p-valently star-like and convex functions of order alpha. *Journal of General Mathematics*, 17(4), 29 44.
- Janteng, A., Halim, S. A., & Darus, M. (2007). Hankel determinant for starlike and convex. functions. *Int.J.Math.Anal.(Ruse)* 1(13); 619 625.
- Layman, J. W. (2001). The Hankel transform and some properties, *Journal of Integers* Sequences, 4(Article 01:1:5), 1 – 11.
- Libera, R. J., & Zlotkiewicz, E. J. (1983). Coefficient bound for the inverse of a function with derivatives in P. *Proc. Amer. Math. Soc.*, 87; 251 257
- Noonan, J. W., & Thomas, D. K. (1976). On the second Hankel determinant of areally mean-p-valent functions. *Transactions of the American Mathematical Society*, 232 337-346.
- Opoola, T. O. (1994). On a new subclass of univalent functions. *Mathematical (Cluj)*, 36(59) 195 200
- Ntatin, B. (2010). A Distortion Theorem for a subclass of Univalent Functions. *Int. J. Contemp. Math. Sciences, 5*(16), 763-768.
- Patil, S. M., & Khairnar, S. M. (2017). Second Hankel determinant for certain classes of analytic functions associated with Al-Oboudi differential operator. *IJCAM*. 12(3), 675-680.
- Pommerenke, Ch. (1966). On the coefficients and hankel determinant of univalent. functions. *Jour. Lond. Math. Soc.* 41; 111 122.
- Sahoo, P. (2018). Third Hankel determinant for a class of analytic univalent functions. *EJMAA*, 6(1), 322-229.
- Sudharsan, T.V., & Vijaya, R. (2014). On second Hankel determinant for two new subclasses of analytic functions. *Survey in Mathematics and its Applications*, 9, 131-138.
- Vamshee, K. D., & Ramreddy, T. (2016). Coefficient inequality for multivalent bounded turning functions of order alpha. *Prob.Anal. Issues.Anal.*, 5(23), 45 54.
- Yavuz, T. (2015). Second Hankel determinant for analytic functions defined by Ruscheweyh derivative. *International Journal of Analysis and Applications*, 8(1), 63-68.
- Yavuz, T. (2015). Second Hankel determinant problem for a certain subclass of univalent functions. *Int. J. Math. Anal.*, 9(10),493 498.